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LABJNDuS triangle lightnesst*

t* Yoc=Yw - nc=100,

t*LaBINDUs =IN(A 1ntA2nY)/(ArAon)  (Ynd/100<Y<=Y, ()
L ABINDUB=IN(A 1+ A2)/(AgAon)  (X=YTYy)
t*\(3,6)=327 t*,(18)=744,t*\,(90)=1158

log[t/t* ]=0, m,=0,33

L ]
to=1157,9!1, A= 8, Ay, =0,0699, ¢=0,67
t1=7¢3,79 A0 BLL, /4,=0,0p38 —
t'5,67827,12 1477 B79 718 . ag’r?g"ga""”

— i:':-:-:-!:h:-]:-:t:

uN=0.2  Ixw=5

LABJINDu8
tristimulus value difference
Yo=Y - nc=100,
L AgINDUs=IN(A 17 A2 Y)(A2rAon)  (Yad/100<Y<=Y,o)
L AgaNDu=IN(A 10 A2 (A2iAon) - (X=YTY)
dy:AOn(A1n+A2nY):A0n(A1n+A2uX) X:YlYu
Aonpes=1,5, Aon a=1,0, see CIE 230:2019
“‘
t*,=744 dY,=0,08 dY,/',=0 J045 >
logfY)=0,88. rgr¥> b A.~0, h 6=0,6% =
dY;5=0,08, rf.in_o TA1 0085 Epnlication
dY3 =052V 48 > te ) |>“_1 9
=

xN=0,2 Xw=5

log AY/Y) LABJINDUS
_ tristimulus value sensitivity
S=@vr) YotV nc=100
L AgINDUs=IN(A 17 A2 Y (A2rAon) - (Yad/100<Y<=Yoo)
L AgaNDu=IN(A 10t A2X)(A2iAon) - (X=YTYy)
AYY=Agy(A Ao Y)Y =Agn(Ag A )Y
(dY/Yho=0,0040, A=1,0, A4y =0,0699, ¢=0,67
(dY/Y)§=0,2045, A-5,051, A4,=0,0038
(dY/Y) ¢=0,00,< V.18, dY=0,08

application
log(dY/Y)=-2,34 m,=— o ey - range
o
T 744, dv~0,08 dv,v.=0.00a51 " = ™!
I _
=l
xN=0,2 Xw=5

LABJINDu8

tristimulus value contrast

Yoc=Yw nc=100

L AgaNDus=IN(A 17 A2 Y (A2rAon)  (Yad/100<Y<=Y,o)

tLaBINDUs =IN(A 10t A2 )/(AoAon)  (X=YTYY)

YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]
(Y/dY}g=249,21, A=1,0, Ay =0,0699, ¢=0,67
(Y/dY)g=221,29, A=0,011, A=0,0038

t* ETRY HB‘E*QD&M (FW&FWTFO 03

C,=(Y/AY)

range

%=1
Xw=5

I
1
1
1 application
1
1
T
L]

LABJNDuS relative triangle lightnesst*/t*,

e, Yoc=Yw - nc=100,

t*LaABINDUB=IN(A 1n+A20Y)/(A2rAon)  (Ynd/100<Y<=Y,()
1 ABINDUs=IN(A 1n+A2)/(A2yA0n)  (X=Y/YY)
t(3,6)=327 1 ,(18)=744t* ,,(90)=1158

thggft* =1,55, Ap=1,0, A =0,0699, ¢=0,67
t*1¢/t*;=1,00, A =0,011, A,=0,0038
t*3 ¢/t*=0,43,%,=743,79 Y=18
log[t*/t* J=0, m,;=0,33
L* =49,t* =74/ -
1 application
range

=1

log(AY/AY,) LABJNDuS relative
AYIAY tristimulus value difference
u Yoe=Yw  nc=100,

t*LaBINDUB=IN(A 1n+A2nY)/(A2rAon)  (Ynd/100<Y<=Y, ()
t* | ABINDUB=IN(A 1AL (A Ao (X=YTY)
AY/dY =(AqntA2X)(A1ntAgy)
dYoy/dY,=4,43, Ay=1,0, Ay, =0,0699, ¢=0,67
dY;g/dY,=1,00, A ,=0,011, A.=0,0038
dY3 ¢dY,=0,31, Y,=18, dY=5,08 4

t* =744 d 08 dY,/'r u_=(2 '_1_0415"‘

log [(AY/Y) 1 AYIY),] LABJNDuUS relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc
t*LaBINDUs=IN(A 1n+A20Y)/(A2nAon)  (Ynd/100<Y<=Y, ()
tLaganDus=IN(A1ntA2X)/(A2iAon) - (X=Y7Yy)
@YYV, =IA 10t AaX)/Xull (A 1n+Agy)
(@YV)/(QYIY)- .88, AyL.0, Apy=0.0699, 6=0,67
(dY/Y)g(dY/Y)=1.00, . <0011, 4,=0,0038
(@YY, g(dYV)=1,53 Yu 18, dY=0,08

Ay
log[(dY/YY(dY/Y)]=0, m=-0,13
1 application
t+,=744 dY,=0,08 dY,/¥,=0,0045; L
%=1
XN=0,2 Xw=5

log [(Y/AY) 1 (YIAY),] LABJINDuS relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

t*LaABINDUB=IN(A 1n+A2nY)/(A2rAon)  (Ynd/100<Y<=Y,()

tLaganDus=IN(A1ntA2X) (A2iAon) - (X=Y7Yy)

(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)
(YIAYhg/(Y/dY)=1,12, Ay=1,0, Ay =0,0699, G=0,67
(Y/dY)g/(Y/dY)=1.00, A=0,011, /4,=0,0038
(Y/dY}, g(Y/dY)=0,64 Y,=18, dY=0,08

log[(Y/dY)(Y/dY),]=0, m=0,13
L A ]

application
range

LABJNDuS triangle lightness T*

YoceL*w - ne=100,

T aganDus =IN(A1n+AnY)(AznAon)  (Ya/100<Y<=Yyo)
T*LaganDus=IN(A 10 tA2X)/ (A2iAon) - (X=Y1Y,)
T (3,6)=327,T* ,(18)=744,T*/(90)=1158

log[T*/T*J=0, m,=0,33
L*,=49,T* =744

]
*9=1157,95, A =10, A2u=0,0699, ¢=0,67
T*1g=743,79, /4, 0 811, A,=0,4038
T*36=327,12,1%, :7 B NEATS 18|
|>h 1
Xw=5

application
range

CED81-1A

logAY) LABJINDu8
AY tristimulus value difference

YocmL*w - =100,
T*LABINDUs=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yno)
T*LaBINDus=IN(A 17+ A2 (A2 Aon) - (X=YTYy)
dy:AOn(A1n+A2nY):A0n(A1n+A2uX) XZYIYLI
Aonpes=Li5, An a=1,0, see CIE 230:2019

| (B% @@ —'6155A2v \‘JFQQ-
s g'ﬁ‘in 0,01% 70610;58 app"caﬂon
dY36—002Y*“:‘v-'(008 1 L
' 5 %=1

XN=0,2 Xw=5

CED81-3A

log (AY/Y) LABJINDUS

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’

T*LABINDus=IN(A 10+ A2nY)/(A2nA0n)  (Ynd/100<Y<=Yno)
T*LaBaNDus=IN(A 1+t A2)/(A2uAon) - (X=YTYy)
AYIY=Por(A iAo Y)Y =Ag (A it AgX)/Y
(dY/Y}5=0,0040, A;=1,0, Ay, =0,0699, ¢=0,67
(dY/Y)g=0.0045, A =0,011, A4,=0,0038
(dY/Y} 0,070 Y, =18, dY=0,08

N application
log(dY/Y)y--2,34 m=—0,Tsx - _ range
T*,=744, dY,=0,08 dY,/Y,=0, tom T

=l
XN=0,2 Xw=5

CED81-5A

log (Y/AY) LABJINDu8
- tristimulus value contrast
C=(YIAY) M s
T*LABINDuS=IN(A 17+ A2nY)/(A2nA0n)  (Yd/100<Y<=Yno)
T*LaBINDus=IN(A 17+ A2/ (A2 Aon) - (X=YTYy)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]
(Y/dY}g=249,21, A=1,0, Ay =0,0699, ¢=0,67
(Y/dY)g=221,29, A=0,011, &n 0,0038

application

I
1
1
1
1 range

CED81-7A
CED81-7N

THT* LABJNDuS relative triangle lightness T*/T*
THT*, Yoc=L*w - nc=100,

T*Laganbus =IN(A1ntAnY)(AnAon)  (Ya/100<Y<=Yyo)
T*Laganpus =IN(A10tA2X)/ (A2uAon) - (X=Y1Yy)
T*n(3,6)=327,T*,(18)=744,T*/(90)=1158

T*ogfT*=1,55, Ay=1,0, Ay, =0,0699, ¢=0,67
T*,¢T*,=1,00, A=0,011, A,=0,0038
T#3 g T%,=0,43,T%,=743,79 Y18
log[T*/T*,]=0, m,;=0,33
L*,=49,T* =744 . -
1 application
range

=1

CED81-2A

log(AY/AY,) LABJNDuS relative
tristimulus value difference

INUNS VLS VAl 5o
T*LABINDUS =IN(A 10t A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUS =IN(A 1ntA2) (A2 Pon)  (X=YTYy)
dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=1,0, Ap=0,0699, ¢=0,67
dY,g/dY,=1,00, A=0,011, A,=0,0038
dYs,gdY,=0,31 Y, =18, dY=0,08 %

CEDB1-4A
log [(AY/Y) | (AYIY),] LABJNDuUS relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
T*LABINDUS =IN(A 1ntA2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDuS =IN(A 1ntA2) (A2 Aon)  (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(@Y/Y}o(dY/Y}=0,88, Ay=1,0, Ay, =0,0699, ¢=0,67
(@YY Y(dY/Y )2 20, Ar=0.011, A4, =0,0038

log[{@VIVY(@YIVL=0, my=-0.13 1 o
T*=744, dY,=0,08 dY,/Y,=0,0045 ?g’,ﬁ’é‘ga"m
Ix,=1
Xn=0,2 Xw=5

CEDB1-6A
log [(Y/AY) I (YIAY),] LABJNDuS relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nc™

T*LABINDUS =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)

T*LABINDUS =IN(A 1ntA2) (A2 Aon)  (X=YTYy)

(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIAY}o(YIdY)=1,12, Ay=1.0, Ay, =0,0699, ¢=0,67
(Y/dY)g/(Y/dY)=1,00, A=0,011, /5,=0,0038
(Y/dY}(Y/dY)=0,64 Y, =18, dY=0,08

log[(Y/dY)( YldYL] -0, mu 013

application
range

CED81-8A

TUB-test chart CED8; LABIJNDuU8*(Y) & T*(Y), Ync=(Y&L*) wrcBne x=0,66, with more data
Absolute and relatlve lightness, sensmwty and contragt=Ab5, A1n=0,011, Agn—O 0038, /&u—o 06
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